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1. Suppose that yon have a utility function given by the equation U7 = /507 » where
{ is the quantity of money. Consider a lottery that provides a payoff of $0 with
probability 0.75 and $200 with probability 0.25. (BN 5 43)

a) Sketch a graph of this utility function, letting I vary over the range 0 to 200.

b) What is the expected utility of this lottery?

¢} What is your utility if you receive a sure payoff of $50? Is it bigger or smaller
than your expected utility from the lottery? Based on your answers to these

questions, are you risk averse?

2. There are three consumers of a public good. The demands for the consumers are
as follows: (10 43)
Consumer 1: B, =60-0
Consumer 2: £ =100~Q
Consumer 3: B, =140-0
where Q measures the number of units of the goodand P is the price in dollars.
The marginal cost of the public good is $180. What is the economically efficient
level of production of the good? Illustrate your answer on a clearly labeled graph.
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7. Dr. Lee wants to compare the effectiveness of two teaching
methods.  Sixty students are selected as a sample. The
sample is randomly divided into two groups and then taught
with different methods.  After 6 months, both groups are
tested for their achievement. If Dr. Lee knows nothing about
the population characteristics of the test scores, what
statistical test (or tests) below is (are) most suitable to test the
difference between these two groups?{ A M BHETHE - & 16 & ]

A) Chi-square test
B) t-test
C) F-test
D) z-test
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6 5.99 5.14 476 4.53 4.39 4.28 4.21 4,15 4.50 4.06 4.00
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& - Please briefly describe your interests and understanding of public affairs
management, and your choice in take part in the entrance examination to the
Institute, in English. (34% )
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1. Find the derivatives % {30%)

a, y:z—xtl— b, y=vyvx+yx+qx c. (x-Dy*=x+1

x4+ 2x+1
2 453 x 1
d y=u"(u-u") where u=—"— e y=-—
x+1 Inx
f y=x"

2. Sketch the function f(x) = x + L ; indicate all extrema, inflection point (if any),
X

intercepts, concave structure, and asymptotes.  (15%.)

3. Evaluate the following (30%)

a. ?x ;de b. Iﬁ?ﬁ c. _[(lnt)Zt‘dt

X+ Sll’l X
1 +—
lxl-—»: 3x+cosx hm( )

X

' dx
6[:/";- €.

| g Find the solution of the differential solution Zx—y =y with the initial value

%i y(0) = 4.

}L 12 _ g

i 4. Use power series to approximate j. dx to three decimal places. ( 10%)
i 0
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